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Turbidity currents commonly
deposit :
(A) Shale

% (B) Limestone

(C) Arkose |

(D) Graywac'ke

Which kind of information can be-

| determined from sedimentary

srructures ?
(A) Topping direction
(B) Means oftransporf of sediment
(C) .Depositional'envi'ronmgnt

(D) Allofthese:

. Which type of ¢ross bedding is deﬁ_nitei |

indicator of tidal environfnent ?

_(A) Epsilon cross bedding

(B) Herringbone crossbédding,f |

V(Cj: Hummocky csr'oss bedding
(D) Trdt;gh cross Eeddihg =
‘Allocﬁems. irillim'e.ston:é béh,éists of ;
A Micrite only |

(8)  Sparonly
~ (C) Ooids only

(D) Bioclasts and ooids

ER - 4A/12

(2)

o.

Which of the following does not
contain information about paleo-
currents ?

(A) Planar cross bedding

(B) Parting lineation

(C) Asymmetrfc ripples

(D) Laminar beddjng

The diameter of sand,sfze is1Tmm.

In Phi(®) grade, it is equivalentto :
A -1

'(B) 0 -

C) 1

(D) 2

Breccia and cpnglomeréte differ in :
(A) Sizeoftheclasts

(B) Shape of the clasts

(C) Cementing materiaié

(D) Environment of d_e'positibn

Which of the following properties
| does not affects the perme‘abilit-y of
: the standstone ? -

o (A) Pore s;ize

(B) Sorting

(C) T:OrtUOsityoftheporésr' '

(D) Mineralogy of the framework -

grains

Contd.




10.

11.

12.

T L

Asaltdome is characterfééd by :
(A) Lowvelocity and low density
(B) Lowvelocity and high density
(C) High velocity and high density

(D) High velocity and low density

Rift valleys are bounded by :
(A) Nomalfaults -
(B) Reversefaults

(C) Strike slip faults

(D) Transform faults

“Which of the following sedimentary

rocks ‘indicate .'Iong‘ distance.

trgns_portai_tion of the sediments ?
(A_) Quartz sandsto_né. . |

(B) ~ Breccia

(C) | Arkose (sandstone with lots of

feldspar particles)

(D) None ofthese

is well-éofte.d_ sandstone

containing upto 75%’*quartz, with

rock frg'é’ments in excess of feldspar.
(A} Arkose

(B) Lithic arenite

ER—4ANM2

13.

14.

15.

' (©) Quartzaréni'te N

(D) Feldspathic arenite

Mud-supported limestone containing

greater than 10% allochems is called

(A} Packstone
(B) Wackestone

(C) Grainstone

(D) Mudstone

Avertical sequence of rocks that
chahges from sandstone at the base
through shale to limestone at the top
qf the’sequencé indicates a :

(A) Transgreséion_

(B} Regression

(C) Lagoonal environment
(D) Braidedriver

Shale displays fissility because of

the:

(A) “ Recrystallization of mi'n'etals.:
(B) Paraflél érran.gement df_c]ay |

-minerals
(©) S}{earing

(D) Presence of mica plates

{ Turn over)




16. Prior to compaction, deposits of

17

- 18,

sand in a quiet environment may
have :
(A) ‘2‘0-30% volume open pore

space

- (B) 80-90% volume open pore

‘space

- (C) 40-50% volume open pore

. space -

(D) 60-70% volume open pore

-~ space

Cubic packing of uniform size grains

resultin:

A) 48% pbrosity |

(B) 26% porosity
(C) 32% porosity

(D) 65% porosity

Coral reefs.are gene'ra-]ly.-fc)und in :

~ (A) Polarregions

ER - 4A/12

“(B) Tropical regions
(C) Mid-latitude region

(D) Subtropical region

(4)

19. Amongstthe following rock types, we

20,

21,

can expect best porosity in :

(A) Shaly siltsfone

(B) Granular sandstone

(C) Medium grained sandstone
(D) Silty shale

In a rift basin, sandstones are likely
tobe:

{A) Arkosic in composition

- (B) Litharenitic in composition -

(C) ‘Qurartz areniticin composition

(D) Greywacke in cOmpositien

The Siwalik basin is classfied as :

(A,)V Back-arc Basin |

- (B) Fore-arc Ba_'sinn_-

(C) Foreland Basin

- (D) lntracratprﬁcBésih

22,

Guanois: -

| (A)  Calcereous deposits

A (B) _Phospat_ic‘deposité

(C) " Ferruginous deposits

(D) Siliceous deposits

Contd.
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23.

24,

Which of the following rnethod is
used for detailed exploration oil and
gas ?

(A) Gravitymethod -

(B) Seismic refraction method

(C) Magnetic method

(D). Seismic reflection method

Seismic survey is used in exploration

mostoften to Vdetermrine :

(A) The presence or absence of

ore mrnerals assocrated with

petroleum

: (B) - The presence or absence ofa

~ petroleum deposrt

(C) ';Whether there are rock.

structures that cou!d trap -

petroleum '

(D) Whether there have been

¢

o overtrme

: Resewoirs'udt__hrgraihs--that_ih'aye'the :

same size are called;

(A) Well Sorted

(B) Poorly Sorted

ER - 4A/12 (

[

26.

27.

- 28.
. changesm petro!eum deposrts- o

(C) Half Sorted”
(D) Fully Sorted

The distribution of grain sizes within

a reservoir refers to:

(A) Compaction

(B) Sortiug

(C) Packing

(D) Cementation

Primary porosity is defined as : -

()&) t’ore :-space created by

dissolution of fracturing of rock _

(B) Pore space that is inter-

connected

(C) Pore. space that is isolated or

not mterconnected

(D) Pore space created durlng :

\ deposmon of sedrments

For _seisrr_tic S-WaVe velocity (V), the
rigidity modu}us () is proportional
 to: | '
™ W

® Vv

©) v3
D) V

{Turn over )




29. Which of the following logging

30.

techniques is best suited to eétimate

the shaliness of hydrocarbon

reseNoirs?

(A) Resistivity

(B) Sonic-

(C) Induction

(D) Gammaray

Choose the co.ri‘eét.combination

of the ore and location of its

: depoéits :

(A) Urani;um‘—adad'ug'Qda',
(B) Lead—Khsti

(C) Gold— P.a,nn'aﬁ ;

(D) Iron=Malangkhand

31

limestone is. eniifeiy ,.c;dmposed of

organic matté;?: el
o8 Coguina’ B

(B} __.EnCrinites 4 _.  T
© épérgeni'té-?ii-%ﬁfi_

(D) Oolite

ER - 4A/12

32.  Which of the following structures is

- 33.

(A) Slickenside -

of Bombay High ?
(A) Doubly-plunging anticline
(B) Doubly-plunging syncline

(C) Non-plunging anticline

(D) Non-plunging syncline

The polished and straited surface
resulting due to friction along a fault

plane is called as ;

(B) Lamination
(C) Ventifact -

(D) Noneofthese.

' tfénSéurrent-féQlt is predominantly

(A) . Veftical -

@) Horkontl

~(C) Along the dip of fault

(D) Along the dip of bed

Contd.




35. The isotope 'C is produced in the
éarth atmosphere by the interaction
of césmic rays with ;

A %o resulting in release of o
particles
(B) N absorbihg the neutron aﬁd

. releasing the proton

(C) 108 resulting in the addition of _

two d'p__artiCIes

(D)- °C absorbing a neutron

36, »Rétibs’-oférlemséntél abundances of

the bulk earth are similar to that of :
‘ _(A) Moén -
: .(B) Fe~N| meterontes

(C) Chondntes

| (D) Basaltic chondntes

| rmlnerals is determmed‘ by

s.fé}' -’

V'l."f:-_*(A) Chemlcala

_ <-'(B) Scanmng Electron Mncrosoopy

(C) X-raydlffraciion '

(D) ICP.MS

ER - 4A/12

39,

L 37 r_"The spaceil' tt e_:structure ?f | \jr:édj:’;it'_‘_i()h IS

(A 041007um

NN ) ',-_Both

38. Whichof thefbllowing represents the

correct order of abundance of

elements in the earth's crust ?
(A) Si>O>Fe>Al>Ca>Mg

(B) O>Al>Fe>Mg>Ca> Si

(C) O>Si>Fe>Mg>Ca>Al

(D) O>Si>Al>Fe>Mg>Ca

Platinum Group Elements are.:

(Ai' . Lithophile only
(B) Chaiéophife only

(©) _-"Side_rophile only

chalcophlle and |

j&derophlie 3

“The wave length range of the’

R microwave r‘eéion ofe,lectrdfn_agneﬁc

w7

@ tmein

E (C) 13to 3 um

(D) 3to14pum

(Tum over)




41. GPS is used as :
A
© (B)
©)
(D)
42, An

Gravity Profiling System

Gas Prospective System
éround Penetrating-System
Geographic Location System

igneous rock comprlsmg
predom:nantly of quartz and K- -

feldspar can be classified as ;-
(A
®)
©
| ‘_(D) :

_Gab.bro .
Granite’
Peridotite
"'Toﬁéiﬁé‘ _,

43 The surface expressmn of the .

Ilthosphere desendlng tnto the

e

(D) Trench

44 WhICh oftherfollowmg formatron 1s:' SR R

45,

6.

L ~wh|ch stratlgraphlc umt ?.

nch m hg,n'ate W|th lts GOrrect—

strat!graphlc age 2%

(A) Palana Formation—Paleocene

ER —4A/12 (8)

()
(©)

' (A) Udalpur Group

: '(B) Sausar Group

(B) Disang Formation— Eocene

(C)} Subhatu Formation —Eocene

e —— =

(D) Kopili Formation — Oligocene

In India, bituminous coals are found

at:
A

Palana

Neyveli .

Jharia
© Kioh

P'hosphoriié-dépasits'ére found in . -

TN

ce of dmosaurs o

whgph geolqglqgl o

© Mosozic

(D} Cenozoic - b

Contd.



48.

49,

50.

51.

ER -4A/M12

in determining the :

D)

The Earthquakes with deep foci

(~700 km) are common in:
(A) Mid-oceanic ridges
(B) Contineﬁtal rifts

(C)

(D)

92.

Himalayan Mountain Belts

Island Arc

‘Ediacaran Fossils” have significance -

Archean / Poterozoic boundary
(8) Precambrian / Cambrian
boundary

(C) Permlan ! Tnassm boundary

53.

Cretaeeous [ Tertiary boundary ‘_
Ammonoids are a,buihdantly present
in wh;ch of__.fﬁé' fdlflowing rock .

sequence ?

A) Gondviana' .

(B) Cuddapah

' '(C) Jura531c of Kutch

(D) S!walak

Conve_rs_lﬁon of ‘remains of plants and

animals into rocks is known as :

(A) T{ansformation

(9)

“A(C)

" 54,

—

(B) Petrification
(C) Alteration
(D) Lithification

The fossils which ‘had short

geological duration but wide

geographical distribution are called
©as;

(A) Type fossils

(B) Rare fossns

Index fossils

(D) Typiciai fossils

Most faults in the Himalayas are :

(A) Strike-slip

~(B) Thrust

©) Nd'frhat R

(D) Tré'nsfonn

Whlch of the foliowmg mmerals in

' Moh's scale of hardness isa Si|iGate '? :
-(A) ‘Top;az‘ _
(B) Apatite

(C) Fluorite -

(D) Corundum

{ Turn over )




55. Find the odd one out of the following :

56.

- 57

B8,

 minerals develops Si :

(A) Enstatite

(B) Hypersthene
(C) Anthophylite
(D) Diopside |

Tetrahedra structure of a silicate

4 : 11, The silicate structure of the
mineral is.: -

(A) Nesosilicate .

(B) rnosm_ca_te,- ;

(S Tectos_i}icat’e .

: .,,(D) ~ Sorosilicate

O ratio of

Find the odd one out of the following
pairs: o
_(A) Aragonrte Calcnte
(B) Dlamond Graphrte
(C) .Quaﬁge_ghalCedony

- (D)- MfereefrneeLa'braderite
Mesozorc Cenozorc boundary is

_ placed at |
(A) 75 Ma.-_ /

. ®) 65Ma
(C) 45Ma
(D) 110 Ma

ER--4A/12

(10)

50.

60.

Aline on a map connecting points of

equal elevation is called :
(A) Mapline

(B) Baseline

) (C) Contour line

(D) Isotherm

In which of the following regions, the

thickness of the crust is maximum ?

(A) Continentalrifts

(B) Mid-oceanicridges

.+ (C) Orogenic belts

- (D) VP.asAsive .margins'

B1.

TS

Reverse faults are responsrble for:

H; (A Lengthenlng ofthestrata :

B _Shortening-of the strata

-

| (C) Overturmng ofthe strata -

@) '_Thlnnlng ofthe strata

62 -

I the heave of_a fa;rlf iS,Zéro,' then -; .

‘the faulti is :

V) 'Hrghanglefault

- (B) ' L_owangl_efault o

(C) Horizontal fault

(D) \Vertical fauit

Contd.
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63.

64.

65.

66.

g 7-(‘(;) 4% r-"-OAF \ -

© TRo-Tsr

Taking a photograph of an object on

a clear bright day is an example of :
(A) Active remote sensing

(B) Passive remote sensing

- (C) Microwave remote sensing

(D) Thermal remote sensing

Which one of the following was

the.first Indian Remote Sensing

Satellite ?

(A)" Rohini

(B) iRs-m_ o

(C) Bhaskara-t . -

' '(D)-' Cartosat |

- Which one of the‘follo_ylvi_ng methods

events?

(A) 2%y - 2%8qp . i

Y
v

IR
[ERW
L

fungsteri’?{'l? o

(A) Psilomelane

ER—4AM2

68

. is used fOr.dating—_redght"geologicai

69.

‘Which of the foilé@]hg ‘-ié__r_the ore of

(11)

67.

(BY Azurite
(C) Scheelite
(D) Pyrite

The petroleum deposits of Digboi oil

field occurin the rock formation of : ,

(A) Miocene age

(B) Oligocene age

(C) Eocene age
(D) . quassid age

Fault line, raitway line and roads are

best represent_ed isGIS by :

(A TINmodels |

- (B) Réster,dafa models

(C) '__'VeCt'ordéta models
(D) Georelational datamodels

Geiger-Muller Counter is commonly -

used forthe exploration of L

(A) 'U'_'rénium:deposits '

~'(B) Bauxite deposits

(C) lron ore deposits

(D) Copper ore deposits

{ Turn over)




70.

71

T2,

How many silicate minerals in the

Moh's scale of hardness ?

Ay 7

(B) 5

(€) 3

(D) 4

Which one is the main constituent of
gas form of petroleum ?

(A) Propane |

(B) Bﬁta_ne :

(C) Methane

(D) _Ethane‘ ‘

Which of the following mineralis most

resistant to weathering?

® Musco\)ité |

73,

ER —4A/12

'L‘(B) BIOt!te

(C) Caicnte

O Quatz

‘Tw_inning ob'ser\?ed" in pIa'gieciase x

' (A) - Carlsbad twmnlng

S/

!(B) Polysynthetlctwmmng

(C) Penetration twmnmg

(D) Cross-hatch twinning

(12)

74.

76.

(A _Landsat

Which mineral is used for the age
determination of the Vindhyan
Sandstone ?

(A) Quarz

(B) Pyrite

(C) Glauconite

(D) Iimenite

“Smith test” isused to determine the

following propertles of the building

stone 7

) Density
s _(B) 'Porosm?
- ©) .Durablllty

(D) Permeab{h‘ty,_ >

Which of_j{'he'i'fo'libwing is a-

‘ geos'tationary-s-aieilite? |

.'

e ‘INSAT

" (€) _SPOT\._ ha

R

D) rRsf
; .The graphate deposﬁs of Odlsha are e

' fassomated with

A Gramte

(B) Bas:c granuhte

(C) Chamokite

(D) Khondalite

Contd.




78.

79.

80.

81

(A)',_’ , _3.5_2

Manganese desposits of Madhya
Pradesh and Maharashtra belt are

associated with rocks of :
(A) Sakoli Group

(B) Mahakoshal Group

(C), Bahabudan Group '

(D) Sausar Group
The volcanic equivalent of Diorité is :
(A) Rhyolite -

(B) Andesite

" (C) Trachyte B
‘ (D) Basalt

If the color of gossan is biack it

mdrcates the presence of:

(A) Copper 7

'- _-'(B) Iron

:(C) Manganese

(D) Graphite N

I'

Heavy mmerals arethose Wthh have .

'speCIf' c gravrty of more than

.,i,
v

® 287

©) 300

D) 3.87

ER —-4A/12

82." The bauxite of East-coast bauxite -

deposit is formed from rock like :
(A) Granite

(B) Basalt

(C) Khondalite

(D) Charnokite

: Which', of the following formation

contains asbestos deposﬂs in-

) Andhra Pradesh ?

(A) - Guicheru -

. (B) . Vampalle_
| :(C)= " Cumbum _
D) Bairenkonda
Ma.ximu'rn' eeparaticn of the
' reflectance value of vegetatlon soil
- and waterls seenin:

o _(A) _ G_reen band

() Redband

(©) Infrared band
D) Blueband -
Bt

A iReg;i‘_ci{Liaj deposit

(B) Chemical deposit

(©) Transported deposit

(D) Ferruginous deposit

(Tumover)




86.

87.

88.

Fuel ratio of a coal is defined by :

(A} Organic sulphur / Organic
phosphorous

(B) Moisture / Volatile matter

(C) \Volatile matter/Ash content

(D) " Fixed carbon / Volatile matter

Spatial resolution of the passive

sensors depends on their ;
(Ay GPS

(B) . FOV

(©) -'.IFO\_/ ,

| (D) Pixel

Which of the following data gives

* maximum vertical accuracy ?

A RADAR

, )(B) LiDAR

89.

'.(C) Therma[lmage

'(D) Mlcrowave PR k

Klmberhte mdlcates the possﬂ)lltty of

the presence of

| 7(A) . Ruby .

s

(B) Diamond
(C} Kyanite

(D) Sapphire

ER ~-4A/12

90. The primary source of energy that

91.

92.

03,

moves heat and water through the

hydrosphere and atmosphere is :

(A) Wind energy

(B) Solarenergy

(C) Heatenergy relased from the
carth

(D) Noneofthese

What percentage of earth’s water is

fresh water ? |

(A) 50%

(B) 22%

©) 3% -

(D) -7%

Best gfadé chromite in India mined

in whlch state ? ," _

A) Rajasthan

(B) Bihar

(C) Odisha

) 'Jhér'kﬁ’ahdi'.

The study of earthquakes is called
(A_) 'Petrology

(B) Seismoiogy

(C) Paieonto!ogy

(D) Petrography

Contd.




94. The point of origin of earthquakes

95.

96.

below the earth’s surface is called :
(A)
(B)
®)
(D)

isocenter
Focus
Epicenter
Isopoint

The magnitude of an earthquake is

basedon:

. {A) ﬂfne period

(B) Frequency

(C) Amplitude

(D) Intensity

Which one of the following is a trace

fossil? .

o (A) . Shelis.

® Bones
(©) Tesh

(D) Burrows -

which f the following color ?

®:

éé_rkgolor |
(B) White color
© Re
(D)

Red color

Blue color

ER - 4A/12

98.

99.

100.

(15)

The average radius of the Earthis ;
(A)
(B)
(©)
(D)

5420
6370
9880

3340

- Odham discontinuity marks the

"~ boundary between:

©

@A)
®)
©
(D)
“ Ianbandwater body is marked by | ;-1_01 L

A

B

Curst and Upper Mantlé '
(E}\) " Mantleand Outer core

- ‘Ou'tér' C(;re and inner core
(D)

Upper mantle and lower niahtle_ -

The average thickness of the earth

crustis:

1km

22km

33km

B5km : ~
Whatis the average height of the GPS
satellite frdt;h,tﬁ_,e géa&h surface ?
36100km -
20200 km

(C) 40000 km

(D) 45000 km

( Turn over)




102. The abbreviation DEM in remote

103.

sensing stands for:
(A) Digital Electro Magnetism

(B) Digital Elevation Model

(C) DlgrtaltyEnhanoed Measurement

(D) Digital Exponentlal Magmtude B

Name the first Irndiqn Satellite :

(A) Rohini

(B)_ Bhaskar

(C) INSAT-1

" (D) Aabhatta

104,

!

The arrangement of terraln featu res

o whlch prowde shape :size and‘

“+ textural attributes is qa,_l_l;_ad ;

| (A) Temporal variation

- 77 (B) Specﬁiral vanatlon .

'(C) Altitude varlat[on

(D) Apatlalvarlanon

105.

ER

_Uniconformitybet@éeh.ignébus and

sedimentary straté:is;’talled :

(A) Angularunt:onfo'rmity

—4AJ12

(16)

(B) Disconformity
(C) Non-conformity

(D) Local unconformity

106. The age of Nautilus is :

(A) Triassicto present
(B) Cretéceous to present
(C) Jurassicto present

(D) Cambrian fo present

107. The- _g_radé_of an ore body, which

~can be economically mined, is

named as:

L t.-, x\\

(A) - A\_(é.r'age grade
®) Cutoffgrade
(C) Absolute grade —

(D) Nllll grade

108 WhICh rock has maxsmum specmc

y:eld’?

(A) Khondahte
(B)_-, ' legstone |
(C) Séndstohe

(D) Unconsolidated sand
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109. Altimeter

110.

is used in aerial
photography :
(A) For recording temperature

(B} For recording speed of

aeroplane

(C) For recording atmospheric

pressure

(D) Forrecording height from MSL

For stereoscopic study, the overlap

of aéri.al photdgraphs shduld bé -

_ better if overfap IS

R .i_‘(A)f 5%

(G 30%"

o

® 66%'- L

| 111 The gem vanety of ohvme is:

";<A>_ it i

.g'f‘(é_;)f'.f-l_Perldot ,' L
c (ji')_"):;'.'.:r'ZIrcomum

112,

ER -

Lahar deposits are formad by:

(A) Detrital sediments

4A/12

113

(B) Organic sedments
(C) Chemical sediments

(D) Volcaniclastic sediments

The eutectic intergrowth of

orthoclase and quartz produce well
known rock:: A
(A) Perthite

(B) Syenite

(C)  Graphicgranite

, 'E',(D) 3 Graphic thyolite

C 114,

‘What é’,re the® c!ea\.lagel: angle's ﬂ'i.n_

. Hdrnbléndéﬁé

(A 60°and 86°

(B) 56°and124°

| 115 "_The dnftmg of contments beganr"\;ﬂ o

L (0) 66°and 154°

._(D)“r'sfe.and:éso_. f

S ;}dunng

: (A) :fLate Precambnan o

o (B) .;‘Egrmq-carbonlfe,rqus? .

(C) Méé’ézdzic

(D) Devonian
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116. Columnar joints in basalt are : 120. Indian satellite CARTOSAT-2

(A) Shearjoints launched by ISRO in the year :

(B) Tension joints (A 2007
(C) Dip joints | (B) 2006
(D) Strikejoints | | (C) 2012
117. Presence of unconformity in a rock (D) 20?6 | _
sequence cab Is recogniz;ed by: 121, Wavelength of radio wave is :
(A) _Angularrelationship ' o w '>20 cm" '
- : (B) Presence of conglomerate E " (B) .between_ 10-30cm |

,(C) Resrduat301t 1 o o © >3:0”Ctn |

(D)_r Allof,these | _(_D) 50 cm'
t 18. AThe space based remote sensmg - ' B
. - 122, Thelive planetisknownas: - -
sensors operates from an altrtude B o
o » - (A) Venus,
between ‘ S
| ~ (B) - Pluto’
® 10100km | B P
(B) 100—300 km D RN R (C) Al

B }20000km e Dbl .
' (D) _;1-?;'200-40000 km ""1"“23.:'7ln at 50 000 scale topographtcr- _:
e _11""9:'.’ -Whlch one of the followrng is GIS. R

S software ‘?

- _-,(.A) ArcGIS '(A) 1250m

o map a drstance of 0. 25 cm}'-'

(BY Map tnfo_ 7

' (C) IDRISI

(D) Allofthese

ER —4A/12

(18)

®) 125m

(C) 250m

(D) 500 m

Contd.




124,

125.

1286,

127.

Coral reefs are generally found in the

latitudinal extensions of :

(A) 20°N 20°S

(B) 30°N30°S

(C) 60°N60°S

(D) 50°N50°S

The “Iddiki” dam in Kerala belongs
to which type of dém ?

(A) Gravity dam

(B) Archdam -

(©) Eaithen dam

(D) Biteres dam

Gold mine |n llndié is located at : |
®) Khetri |

® Ko

© Zavwar

(D) Juduguda

Wh'i'oﬁ p_n{-} ;if‘l fhe following is a

fertilizer mineral ?

(A Quarz -

(B) : Fe!éiis-pai o

(C) Gyp_sum'

(D) WMica

ER-4A/12

130,

131,

(19)

128.

129.

What percentage of the earth’s

atmosphere does O, comprise ?
A 21%

(B) 71%

(C) 45%

(D) 3%

Which gas makes the majority of our

atmosphere ?

T (A) Oxygen

(‘B) Carboﬁ dioxide
(C) Nitrogen

(D) Ozone

Wave génerated by underwater .

earthquakes is called : -

(A) | El-nino

(B) * Tidal wave

(C). Tsunami ’

(D) Microwave:

The “Seismic shadow zone angle” -

that exist from the epicenter s :

(A) - 48°to 92°

(B) 105°t0 143°

(C) 145°1t0 165°

(D) 165°to 178°

( Turnover) |




132. Seismic P-waves can travel

- through:

133.

(A) Crustonly
(B) Mantle only
(C} Mantie and core

(D) Crust, mantle and core

The total number of Rare Earth

Elements (REE) is:
A) 15

| 17

| '(C) 18

g (D) 26

_. The core of the earth is made up of

(A) Nickel and iron .

'&3‘

7 '__(B) Nickel and chromlum "

"7 (Q) Irpn and calcitim

135,

O swaandion

Lapsa Buru mmeral deposu is

L ‘famous forwhrch mmeral’?

L (A) :_Kyamte e

" (B) - Actinolite _{’I o

' (C) Mica |

ER

—4A/12

(D) Uranium

(20)

136. Bilaspur Dam is consturcted on

137.

138,

which river ?

(A) Chambal River
(B) BanasRiver
(C) Luni Rivef

(D) SonRiver

An example of Embankment dam

is
(A} Bilaspur Dam. -

(B) Hirakud Dam . .

(C) SaiDam

(Dy MahiDam
Monazite is produced most

abundantly in:: - |

(A) Bihar

. (B) Odisha

139.

(C),' Rajasthan 7
(D) Kerala oo

Goldschmldts phase ru!e_ is .

: expressed as

(®) F=C+2-P
B) F=C+P-2
(€) F=C+2

(D) F=C-P+1

Contd.
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143, 'The_ red color iron rich éoii.ié known |

140. The age of the Singhbhum Granite 144. A static test concluded to know the -

IS :
(A) 2000-2400 Ma
(B) 3000-3400 Ma
(C) 1000-1400 Ma
(D) 100-400 Ma
141. Which is the rédiogenic isotoperof |
Lead? | — |
A Pb204
®B) Pbéoa
© PHR

(Dy PH2®

142."A_thgarh(_0disha) is known for ; - 146

(A) ' Cre_taceo‘ué fossils'
- (B) Cé_fnbﬁén fossils
(C) Carbbniferou_s fossils |

© (D) Jurassic fossils

- as: 7

(A Loémysoil
® Alwialsoll
(C) Laterite
(D) Lime soi

ER - 4A/12 (21)

145.

147

in-situ deformation of rocks, is known

as:

(A) RQD

(B) Jilltest

(C) Crushing test

(D) Jacktest

The property of a roc‘k to transmit
fiuids through it, is known as :

(A) Porosity

(B) Permeabilty

€) Transmitivjty-

(D) - Hydraulic c@nducﬁvity

Which planet has highest density

among these ?

-.(A) Mercury

(B) Earth
(C) Mgrs._
(D) _Vén‘us- :

Which one is high temperature

- felds.par'?j '

(A) -Sanidine
(B) Microcline
{C) Orthoclase

(D) Albite

( Turn over)




148. Which one is a pyroclastic rock ?
(A) Pitchstone
(B) Ignimbrite
(C) Rhyolite
(D) Obsidian

149, Destructive ptate boundary is also
known as:
A) Consefvative plate boundary

(B) DiVerging plate boundary

(C) Converging plate boundary

(D) Transform plate boundary

150. Major part of Odisha state comes

' underwhich_ seismic zone 7
A |1
B N
(C) I

D). vV

ER — 4A/12 (22)
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